SEVENTH GRADE MATHEMATICS FINAL EXAM!
Name ____________________________________________ Date ________________________

Directions: For each section, read problem carefully and solve for the correct answer.  Show your work for extra credit and SHOW OFF all you have learned this year!
Read the following to solve for problems 1-2.  

Chris has V video games at home.  David loves video games and has four times the video games Chris has.  Jay hates video games and has seven less video games than Chris.    
1)
Which expression represents David’s video games?

a)
V

b)
V+4

c)
D

D
4V
2)
Which expression represents Jay’s video games?

a)
V - 7
b)
V/7
c)
J
d)
V
3)
What is the missing value, x, on the input/output chart?

	Input
	0
	1
	2
	3
	4

	Output
	0
	x
	8
	12
	16


a) 6
b) 3
c) 4
d) 8
4) What does X equal in 6X -5 = 19?
a) 14/6
b) 4
c) 6
d) 3
5) A bowling alley charges $5 a game and $2 for shoes.  Which expression would describe the cost of the bowling alley?
a) 5g
b) 5g + 2 s
c) 5g + 2
d) 2g+ 5
6) Solve the following:  2*3 – (5+4)÷32 =
a) 5
b) 4.5
c) 7
d) 4
7) 24 ÷ (3 + 32) + 10 =

a) 13
b) 27
c) 22
d) 12
8) d + d + d simplified would be:

a) d3
b) 3+ d
c) 3 d
d) 3
9) 5 * 5 * 5 * 5  to a more simplified form would be:

a) 5
b) 5*4
c) 54
d) 45
10) Which property best describes 4 * (3 + 2) = 4*3 + 4*2
a) Distributive

b) Identity

c) Associative

d) Commutative

11) Which of the following correctly illustrates the associative property?

a) 4 * 3 = 3 * 4

b) 3 (4 + 2) = 12 + 6

c) 9 * 1 = 9

d) ( 2 * 3 ) * 4 = 2 *( 3 * 4 )

12) Use the distributive property to solve 2 ( c + 5 ) =

a) 2c + 5
b) 2c + 10
c) 2c
d) 10
13)



1

2

3

4

What is the 4th term:

a)


b)


c)


d)

14)
Which is the left view of: 
a)


b)


c)


d)

15) James filled a box FULLY to carry all his books.  What volume of books can the box carry?
a) 16  in3

b) 12 in3

c) 8  in3

d) 32  in3

16) What is the area of this triangle? 

a) 6 in2
b) 17 in2
c) 12 in2
d)  60 in2
17)
Volume for cylinders =
π r2 * h.  Jocelyn drinks a can of soda that she wants to know the volume for.  What is its volume?

a) 8 π in3
b) 4 π in3
c) 6 π in3
d) 16 π in3
18) Please solve for the volume of this triangular prism.  

a) 18
b) 12
c) 36
d) 24
19) Rahshawn has a field shaped like a circle.  What is the area of the field?
a) 9 ╥ ft2

b) 3 ╥ ft2

c) 27 ╥ ft2

d) 6 ╥ ft2

20) Shanice has a new bedspread for her bed.  The bed looks like this.  Approximately how big must her new comforter be?
a) 50 ft2
b)    40 ft2
c)    80 ft2
d)    20 ft2
21)
Which of the following are equivalent?

a) 63= 6 * 6 * 6
b) 66= 6 * 6 
c) 63= 6 + 6 + 6
d) 64= 4 * 6
22)
(1/6)2= __________

a) 2/6
b) 2/12
c) 2/36
d) 1/36
23)
55 * 58 =

a) 513
b) 540
c) 2540
d) 2513
24)
Which of the following lines would be 

a possibility for the graph of y = 6x?

a) A

b) B

c) C

d) D

25)
Which is the scientific way to write 64,000,000?

a) 6.4 * 1000
b) 64 * 106
c) 6.4 * 107
d) 64 * 107
26) David gets promised $3 * 105  as a sports writer for the New York Yankees. How much money does David get in his career?
a) $300,000
b) $3,000,000
c) $350.000
d) $30,000
27)
- 23 + 15=

a)   38
b)   8
c) - 38
d) - 8
28)
19 - - 13 =

a)   32
b) - 6
c)   6 
d) - 32
29)
- 5 * - 6 =

a)   30
b)   11
c) - 30
d) - 11
30)
28 ÷ - 7 =

a)  - 4
b)    4 
c)  - 7
d)    7
31)
6 * - 2  ÷ - 3 =

a)   - 4
b)     4
c) -  1
d)    1
32)
Which quadrant is the point in?

a) I

b) II

c) III

d) IV

33)
Which point would correctly represent ( -3 , 5 )  ?
a) A

b) B

c) C

d) D
34)
Use a2 + b2 = c2 to do the following:

a)   18 ft.

b) √18 ft.

c)   12 ft.

d) √6 ft.

35) Which statement represents “a quart (Q) contains 4 cups (C)”?

a) There are 4 Q per 1 C. 

b) There are 4 C per 1 Q.

c) There are 4 C per 4 Q.

d) There is 1 C per 4 Q.
36) Which is the following is the lowest reduced form of the ratio of 5: 15 ? 
a) 1:3




b) 5:5
c) 2:3




d) 1:10
37) Find the missing side’s length:

a) 3
b) 4
c) 6
d) 8

38) Which fraction is larger than 1/2:

a)
1/3
b)
1/6

c)
2/3

d)
2/5

39)
Mionnay got 19 out of 20 on the quiz.  Which of the following shows how to get Mionnay’s percentage?  

a)
20 
=
x


b)
19
=
x

     -----
         ------



----
          -----


19
          100



20
          20
c)
19 
=
x


d)
20
=
x

     -----
         ------



----
          -----


20
          100



19
          20
40)
Which ratio is NOT equivalent to 2 to 3?  

a)
4 to 6




b)
8 to 12
c) 5 to 15




d)
10 to 15
41) Fill in the following table: 

	X
	1
	2
	3
	4

	Y
	8
	16
	M
	32


a) m= 22                                                    b)
m= 11
c)
m= 20
                                                d)
m= 24
42)
A dog has 4 legs.  How many legs do 7 dogs have?  

a) 11                                                
  
b) 28
c)
32
                                                
d)
36

43)
Rafelito needs 1 Two Liter of soda for every 5 friends he invites to his party.  How many Two Liter Sodas will he need for 30 friends?


a)
35

b)
150

c)
6

d)
25 
44) Solve for x in the following proportion: 


2    =    x

  

---
---



9
18
e) 36



b) 
4
f) 8



d)
9x

45)
A bag of blocks contains 5 red blocks, 1 white block, 3 green blocks, and 1 blue block.  What is the probability you will pick a red or white block?

a)
6/4








b) 
5/10

c)
2/10



      d)
6/10
46)
A dice is rolled.  What is the probability you will roll a two or a three?

a)
2/6



c)
3/6

b) 1/6



d)
1/3
47) Shane flips two coins.  What is the probability he will get a Heads/Tails?

b) ½

c) 1/3

d) ¼

e) 2/4

Use the following graph to answer the below questions.

48)
Which person runs the fastest?

a)
A

b)
B

c)
C

d)
D

49)
Which person heads backward toward the start line?

a) A

b) B

c) C

d) D

50) Which person has a head start in front of the others?

a) A

b) B

c) C

d) D

EXCELLENT JOB, MATH SCHOLARS!
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